pump for all, all for pump

KSQ9001:2009/1509001:2008



Technical data

3 Resistive Oil supply system
4 Measuring Oil supply system
5 Measurement of oil supply
6 Description of main function & Viscosity

Auto Type
7 AMGP-01A Series

10 AMGP-01M Series

12 AMGP-01S Series

14 AMGP-013(F)/015(F) Series

16 AMGP-025N Series

18 AMGP-**NS Series

20 AMGP-200NS Series

22 AMGP-01N/02N Series

24 AMGP-03/05 Series

26 AMGP-03C/05C Series

28 AMGP-053 Series

Manual Type

29 ALP-8LF Series

30 ALP-7LH Series

31 DB Series

32 AR-B Series

33 PVO Series

34 ARD-340/350 Series

36 AJB, ASA Series

Oil Mist Lubrcation(air+oil mist)

37 AOML-3000 Series
39 AOL 4 Series

40 ARD-440 Series
A Oil Reservoir
Accessories & Fitting

43 Accessories

44 Fitting

48 IEAe 2 i



Technical data

Resistive oil supply systemsBE#i( bl ) X4&imA =

BB RRBEIM RGN~ d . XRGEEBED 2B E N O m The resistive system have two types of measuring system pump. This
TEBE S BB N Z BT, system is to lubricate every point by controlling port of distributor or

resistance of flow unit with proportion or adjusting much or less of
the oil.

BENHE OWARBNS LML, iEEd AR E NSOt m The discharge volume of each outlet is proportional and distributes
5, each point through the installing distributor.

mmj] T (RIB03E ~ 4)EAJBKEIFIASAKEI g 2 F, LTS m The flow unit (Code No. 03 ~ 4] have two types of AJB type combined
BRGNS E N B AL H T R Egﬁ 2, distributor and ASA type attached every lubricating ports. The code

number increasing on the fittings increases the discharge volume two

times.
D1AF)-T1.8 DIMIFI-T1.8 / /
— e = —— oo ome—— ﬁﬂ-"l

88 = T

/ 1 ASA
DB-6 ~
01S(F)-T1.8 013(F)/015(F) - oD
Heafd
[= - oD
q\rg—ﬁaﬁw ﬁ
2 2 2
l! a1 M \
L]
01AF)-TO3 ‘
_ /TN—4 , ‘

UIMF)-TO3

c O www.aryung.co.kr 2+ 3 S



B — . pump for all, all

Measuring oil supply systems &

BEERXNHBLBRAZRTERSEENRBESHER, IHAR
SEALEDREDEDEENEETE, KEBEENMD
O,

B EENENT EERIEAuUst NipplekE , ZIED7ZEAd]just Nipple
i Kot R Em S0,

A7 5REXNPRBASEATECEGEREEHRNEHE, R
ﬁD%TEIEHEk‘b:Eﬂﬁmﬁﬁﬁiﬁ'E’hﬁ BAREHH ERNET,
ENRBRT EHT T PR, BMBARS~%E0EH,

BATRBEREHRNERE, NZANBERGSEERRESTURE
EHIBEEEA,

M The measuring lubrication system should be used with measuring
pump and distributors. This system lubricates to the points by
measuring setting discharge volume.

m The volume is decided adjusting nipples, and the amount of
lubrication is increased by nipple number increasing.

m The venting valve have to attached on the pump to assemble the
measuring distributor. The pump should operates as intermittent
method. If not, the distributor can move because the air is not
removed in the pipe.

m To operate the pump with intermittent method, the pump have to be
installed a controller in pump itself or be attached the controller on
the machine.

ARD-342

01MA02M/03/00 ARD=02

AR

ARD-35

ARD-345
et 1 ]
Ll ]
L -
TD—4/ %
.
=

D-343

3

@6 =
@4
@4 %

-
—=-u SN
-

ARD-3BB

- =

MBUHRWH
mé lmk (@

OTAF-T

for pump



Technical data

Measurement of oil supply iEiB4iH= it E ik

1 Necessary oll supply of total loss formula Q= Necessary oil supply (cc/hour) &

FEBUERE K = Ol supply constant (See tabk bebw) jlifyHt4s
The unit of widh and length is (mm) &% fr
— Qil supplying place — Calculation formula —— Oil supplying place — Calculation formula —

* Bearing Q
A ¢

Q= 01/25.4 X Diameter =l +Chain

X Row pecesE4 X K
(Bal, Roller, Needle
bearing)

Q= 006254 X Lengh 20|
X Width & X K

+ Siding bearing

Q= 015/25.4 X Shaft da =&

* Bal Bearng way

Q= 0M/254 X Length 40| X

X Journal length 20| Row pieces € X K
x K
+ Pane siding B ) 0 *Gear Q= 03/25.2 X Pich
Q= g,o\;\;siAExxLingth 40| X Circle demeter 2l
t_—. X Teeth widh 7| =
{Length = Stroke) % K
+Cylndric siding Q= 015/25.4 “Cam Q= 0.08/254

X Diameter 214
X Length 40| X K

X Co ntact crcumference
ST X Width Z X K

2. Necessary ol supply of rotat

ing formula

(Return type of lubricating oil, Experienced formula in Hodson's sliding bearing)

BEERKITESE

+Siding bearing

Q= 3xr XN x 10°

Q : Minimum oil supply

HIRAHE(Galon/min)

R :Radus of shaft(inch)
R

N : Rotatihg speedrpm)
Bl hex

» Gear
H: {5HP - k)x106=159HP -k
H : Heat capacily produced
&4 e (keal/min)

HP : Transmit Horsepower

1.5 :Constant &%

10,6 : HP=106(kcal/min)

k : Coefficient of heat loss

Oil supply Constant(K)

o]
0 100 200 300 400 500 600 oke

Rotating bearhg ~Normal : 0.065~0018 5k T BT
. _ —Precision gear : 0.0B~0.012 m/min)
O.O(IT25 X1(T;/A11DEF K :':A
At-'Rlsjpp'ty mlnt '(i 07 1 2 ¥4 5 6 7 8 9/10 11 12 13 14 15 ?':k:’
: Raisihg temperature _ 0 i)
SEREFEAR{Y Q= H /42FcAt os. g ,/’___’_..-Ar-—"A"_ el
04 - e - +

D : Shat diameter(mm) %42

f : Coefficient of friction
EEZ#H(0001~0002)

n : Rotathg speedrpm) Bl 5L

F : Loadkg 17 &

Q= Qil supply (m*/sec) {mE

r - Specific gravity (kg/m’) tEE

¢ : Specific heat (kcalkg C) ABE
At 2 Raisihg temperature(’C) S8 254k,

0102030405 0607 080910 1112131415
P

% This calculing formul is he most correct data when specific heat of oils is 047kcal/kg, 'C
L& 5 = DUR R E0.47keal/kg A AR,

O wnammass bt ) ——



Technical data

Description of Main Function FZ &Ik

W Float swich( RAIEREER )

BT RETRA GRS, YRFBOA@EE
FRRE X SRR, BT “ON” BR
o WIFATEREGSHRS|SEHA, FH
:i;’f’#,ﬁﬂlz%&ﬂ?ﬁiﬁi%?&&&%ﬁi%?&

EREE : AC250V, DC200V AT
HEMAE : ACO33A, DCOSA

B Pressure swich ( JEA{EREEE)

3B ERERE, o UREIEDMIEE
REEETTE, BS4TON" RS,
MR ERERENRFEER, NAES
iﬂbﬂ&ﬁTﬁKE?ﬁ%&iﬁ%%t?&

EiTO

BEET: F5-1.5(0.15MPa)
PS-11(1.1MPa)

fEAEE: AC 250V/DC 32V
1.6A0]5t

WS B ERE
REZENTFEEN~EdsEE, —
RBNBERE EFRETE], R e[ ot
HEEEN ~ENER, BTFRARERE
KE, RS asisiETHE, ERETR
B, B ERENBHHITER,.

W Relef Valvel =A% )
EHEBEE:
2kgf/ of ———20kgf/

B FEED button 1£F ( Fzh4ih )
HEEFEETORET, 5RENELEX, X
¥ “FEED"E, RASSEIZEREBNE
B, RS RSN SRS
FRTMFAFshFRramitn, B2
OBERKRAILKHMFEED Button
switch fils 515 & 12 I 28 10 B RE T, 1tk
ERF TR IR,

B Buik-in Float Switch:
The Contact Point indicates ON when the oil
surface is lower than the lowest limit line by
perceiving the drop of oil surface of Reservoir.
Maximum Use Voltage:
AC250V/DC 200V
Capacity of Contact Point:
AC0.33A/DC0.5A

B Buik-in Pressure Switch:
The Contact Point indicates ON when pressure
reached the certain pressure by perceiving the
pressure of Pump. This device perceives
whether Pump operates normally or oil-
leakage occurs in Pipe.
Applicable Pressure:
PS-1.5(0.15MPa)
PS-11(1.1MPa)
Maximum Use Voltage:
AC250v/DC 32V
Under 1.75A

B Setling of Operation Time:

This Pump must not be operated continuously.
In case much heat is generated in Motor by
long-time operation, Motor is set to stop by
bimetal which is equipped inside Motor, and it
operates normally when the heat cools down
again. Please set sufficient interval time for the
most suitable operation.

B Relief Valve:

Adjusting the Pressure of Pump

Adjustment Range:
02MPa~20MPa

B Feed Button Switch:

It is used when oil is supplied manually. Pump
operates when Feed Button Switch is pressed
regardless of setting time. When Pipe is set and
initiative Pump is operated, the Feed Button
Switch must be pressed necessarily so that oil
can be filled inside the Pump and Air is
completely eliminated. Then connect to
Distributor.

Viscosity T&/E

BE. BFRETREMESRERAEL,
FTUEZRUTNHRE T, METNSH
RIEFELOHE, WRBETS, BT

EREZET,

1 As the viscosity would be sharply changed by
the temperature, proper viscosity of using oil
should be applied according to the viscosity
appling chart.

ohizs EFEREZ (cst)

-30 (3250 | - - - -

-20 | 1170 | 3600 | 8000 | - =

-10 [440.0| 1270 | 2500 | 4500 | -

0 |240.0|520.0 | 950.0 | 1600 | 3570

10 | 135.4(261.3|433.0|772.3| 1236

20 | 76.1 | 134.0| 212.0 | 356.6 | 553.2

30 | 464 | 757 |115.0(183.8|277.0

40 | 30.2 | 463 | 67.9 | 103.8| 152.3

50 | 208 | 30.2 | 430 | 63.2 | 905

60 | 150 | 208 | 288 | 41.0 | 57.4

70 | 11.2 | 150 | 203 | 28.1 | 385

80 86 | 11.2 | 147 | 20.1 | 270

90 69 | 87 | 113 | 149 | 19.7

110 | 46 | 56 | 71 | 90 | 116

120 | 39 | 46 | 58 | 7.2 | 9.2

130 | 33 | 39 | 48 | 60 | 75

140 | 29 | 33 | 41 | 50 | 62

150 | 25 | 29 | 35 | 42 | 52

160 | 22 | 25 | 30 | 36 | 45

170 | 20 | 22 | 27 | 32 | 3.9

. pump for all, all for pump



Digital controller type

AMGP - 01A F - TO3 - T 110

Pump division —‘

RHX 5

Float siw Ogtion
AR

No mark : None
F : Contained

Reservoir ca r:racityﬁH @)
nE

No mark : 1.8
T03:30

Ol supply method
R

No mark : Proportional
T : Measuring

Voltage (V)
R

B AMGP-01ARSE & 3R A % 8 80130 U8 7 31 285 o UK R m It is an intermittent pump containing the digital timer inside to control
1& [EﬂEﬁZ'l*lj"] T H %, AMGP-01 f(FLff LEFI= 5 B2 (DB the discharge volume correctly. There are two types, one is used to be
type) HBELEMH, AMGP-0IAF-TESERXAEM ( ARD-340, combined with resistive distributors(DB type), the other is to be

350.PVOZE! ) HEMEA, . . L
) A combined with measuring distributors (ARD-340, 350, PVO type).

BT IR B 38 I 7 RIOKAT @ 0 REEAR £ B EF R CF I AR, m It has digital controller to check easily the operation with indication of
FERIMERARZIRFIREESEREE R, letters and numbers on the controller. the surface is beautiful and easy
. . o L . operation checking.
W & [B]FR O [EF00t H B (8] B9IR TE A (8RS, Eib oK Es
T, m It is possible to lubricate by setting intervals and discharge time easily
and precisely.

BHTNRAMRERMA N ERNEE, TEEMBREIRER,
m This pump has a terminal box to contact outside controller to alarm the

oil shortage. (Option
BRMTREAFEEDRMA, SERHHEN, THURERMHH% ge.(Option)
TS, FEE M AERTRsEH, m As the pump is installed feed button switch inside of pump, it is easy to

C- . . . . s remove theairandtooperateby manual.
B EERTIRGS, DRSS, RREE, HSREE, TBY vemed perately mand

EREMEVREES, m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine and various industrial - machine.

Discharge | Working | Pressure | Reservoir | \, . Net Phase 1¢, Poles 2P
volume | pressure | range | capacity Viscosity | - Outlet weight ~ Motor | Fre- | Rated
Type ey o ~ EAFE | oo o Output | quency | voltage | Current
e EREN | EAEE B St PT 58 o e B i
cc/min MPa MPa i) kg T 4 V o
017 i 08 | 02-17 | 18 | 30-500 | 1/8"(g4) | 28 j5 | 20 |100/2000 1407
01AF 100 ' o ' 2 ' 60 |110/220| 1.2/0.6
85 50 [100/200| 1.4/0.7
0IAFT | 1.7 0.2-1.7 18 30-500 | 1/8"(@4) | 2.8 15 |
100 60 |110/220| 1.2/0.6
125 18" 50 |100/200] 2.0/1.0
OIAFTO3 | | 08 | 0220 | 30 | 30-1000 47 25 | |
150 () 60 [110/220| 1.8/0.9
125 1/8" 50 [100/200| 2.0/1.0
O1AF-TO3-T | 1.7 0.2~2.0 30 30~1000 4.7 25 oL T
150 (@8] 60 |110/220| 1.8/0.9

c O www.aryung.co.kr 6+ 7 S




External dimension JME &

Circuit diagram [B1#% [El

Applications i&F

fEAK: Ol

e A &S B — 32¢StLL T
B —68cSt LI T

- MR

B2 IR B Rz HI3E 5  astc

piiEE) : Pastic

WHRE  : Jeel

) : Plastic/ZnDC

fFRE 80C WIUF

« R

EEfFI = AMGP-01A, O1AF, OIAF-TO3

EEI AMGP-O1AF-T, O1AF-TO3-T

2#7= : Dital ype

[BIFBEYE] : 1~09min

ot a1~ 99sec

EhHFE L FG-35K
(AMG P-O1AF-TOR)

AL R8s FS-AMEIAIRY

RS2 : O3A

Type of fuid : Ois
Recommended ol

Winter — bebw 32c¢St
Summer — below 68cSt
Material

Case & Cover : Padgic (ABS)
Tank : Plasic (ABS

Gear pump : Seel

Saft guide : Pagic/ALDC
Temperature : below 80T
Ol Supply method
Proportonal :

AMGP-0OIA, OIAF, O1AF-T(3
Measuring :

AMGP-OIAF-T, OIAF-TO3-T
Controler method : Digital type
hterval time : 1~99min
Discharge time : 1~99sec
Pressure Gauge : PG-35K

(AMG P-01AF-TO3)
Float switch : FS-A(Option)
Fuse : 03A

Electric connection 4 &

AMGP-01A(F), O1AF-TO3
LL#IL (Resislive method)

AMGP-OIA-T, O1AF-TO3-T
Fht (Measuring method)

CONNECTOR PLUG | wapowm
% TRED

@ @ @ @ 2BLACK

CONNECTOR| PLUG FLOAT SW OPTION
= DEPOWER
(ONO)

Q@OIL ALARM

@ @ ®1RED 2BLACK
@ @ @ @ IWHITE 4GREEN

. pump for all, all for pump




Digital controller type

Panel description B ERE A E Setting instruction of digital timer

: Feed kuton
* Reset button
* Mode button
: nterval FND
. Discharge FND

GRORSRORS)

Discharge Time Interval Time
(ot BB [E] ) ( [E]B@BY[E] )
1~10sec B 23 2min -
11~30sec B 29 3min W E
31~60sec B 2y smin MLE
61~99sec B} £910min X £

* IFESEE
Interval Time  1~99min
Discharge Time 1~99sec
* R ERE
01A(FH100ce/min = 167cc/sec
01AF-TO3 150cc/min = 250cc/sec

NI&E FE
MODE m : & EFFLE, #5h, FEER
A CHEEF
v BE T
A BEZTO#MODE “W” 1%, 8T
HEEm TS A, RO
‘A M, BELF, EOE Vv
1R, BETHR. BrEZEMEkREetE
WEEMEEHEIL—RQEMODE
‘W RH, RENENEFHS A,
HEEEAED ‘A" R, $E LT,
QB V" IR, BETMR, s
HEfER B MG, 1%3EMODE ‘R’
FHIBHIREREF,

B) MR E A TR AR BRI A T 0
N BRESBINNRETAN, FEhE
HRENEITRS o

O “A" V" BERRBSBEH—
e, nR—ERBHERT —EEH.

2)RESET £/
IRFEEZFTIIR PR "RESET" 24, &
EH OB RENSITRS,

3) FEED buttonfEfH ( manfis )
WMRABITRATIE “FEED” %, WL
¥ E®x “FEED” FHf, FEAEZMNEEA
WIS EFOLH, XFEERE L,
ZRESXHEN, ETHUERARSSE
F A e st 40

4) OILTZ2Z4R (Option)
WRAFZAOILTEN, AREAESER
“oil” MIF RN IEE M EISFE,, XAET
WIRE % HRIEoI A 21BN o

B REZHENSESETE, FUEESR
I RIS E BB E], a0 (8]R B )X th ok
HEFETE, BH~ENTSEESWA
WU LLEERN, BmBEIEDNELET
£, REHBRETHREBEIEE,

*Setting range
Interval time:1~99 minutes
Discharge time:1~99 seconds
*Calculation of discharge volume;
01A(F):100cc/min = 1.67cc/sec
01AF-T03:150cc/min = 2.50cc/sec

1) How to set the timer
Mode m : Starting set, Move, Finishing set.
A :Numbers up
'w: Numbers down

Al If you press the button” m" one time, the
interval time mode begins blinking. * A"
button increases the numbers to set the
interval time and "w" decreases the
numbers. When it finished, press " m"button
again and the discharge volume time mode
blinking,” A "button leads to increase
numbers and” ¥ to decrease the discharge
time. Press again the MODE " m" to exit the
setting program.

BJ If you don't press the button within 10
seconds, the timer recognizes the setting
time is ended and operates automatically.

C) When you press “ A", “ " button every one
time, every one number increases(decreases).

2) RESET function
When you push the "RESET" button during the
operation, the mode returns to starting set
mode.

3) FEED button( manual oiling)
If you press”FEED"button during - the operation,
the oil discharges regardless the setting mode,
also this button can be used to remove the airin
pipe or by manual.

4) Alarm of oil shortage(option)
When the oil is short, the window indicates “OIL"
with alarm buzzer sound to check easily the oil
shortage.

m As this pump occurs the high heat in motor
when working, set the interval time
following the left information. The motor
stops automatically by high motor heat
,causing the interval time is shorter than
discharge time. But the pump works
normally after motor cooling.

O wmarungeokr G 97




AMGP-01M(F) Series

B AMGP-01M B 85 X% B Analog Timertiz &I R4, o AFEFT(E)
gAfh, SR HERASER,

mAnalog Timer AN AZGIesENIRFIFF %, T A FENRER
S ESREEE, RECE/), FUMRNEHRFEHS,

BZE SRR @RS EAR EULEDARIRE SR, BT AL 63

HESTHERE.
BAETNRABEANE MR HEROEE, TEEINPEGIEE
Mo

B REEREBFEEDRM, S ERHEN, TUREZIHLX
WA=S, REETMFAER#TREH.

BZERATIRRE, BRIRE, RRRE, HRKRE, TR

AMGP - 01M F - T03 - T 110

Pump division J

RHX 5

Float s/w Option
VAR ZAIPAES
No mark : None
F :Contained

Reservoir capacity (¢ )
o
No mark : 1.8
T03 : 30
Oil supply method
BB
No mark : Proportional
T Measuring
Voltage (V)
BT

m AMGP-01M series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor. (DB type)

m This type is applied analog control system and by turning left and right
direction it can easily control the interval and discharge volume.

m Because the LED lamp plate is fitted in front of the pump, it is suitable to
check the operation conditions and the trouble.

m This pump has a terminal to contact outside controller to alarm the oil
shortage. (Option)

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

ERERFEIRESS,
) ; Phase 1, Poles 2P
Discharge| Interval | Working | Reservoir Veesy | Gl Net
T volume | Time | Pressure | capacity weight ~ Motor | Fre- | Rated
ype e I*qugma FRED | o ifsjtg ”iPH_jl_':' 2 Output que?f:y voltage Curr;int
cc min MPa i} kg ME | K | BE | BR
W Hz \ A
. 50 |100/200| 1.4/0.7
01M 1/8
0IMF 3~100 1~120 08 1.8 30~500 (@54) 28 1B
60 |110/220| 1.2/0.6
18" 50 |100/200 2.0/1.0
01MF-T03 5~150 1~120 0.8 3.0 30~ 1000 (@6) 47 25 |
60 |110/220| 1.8/0.9

. pump for all, all for pump



Analog controller type

Applications & H
« EAB: O
75 I RSB — 3205t U
2B 68cSt LT

o TR
B e R KR HI 5 & Rastic
s 48 Rastc
WHER: Seel
i 6): Fastic/ZnDC
s fFHEE 1 80C LT
s fh A A
« BHI75 1 Analog type
« {2 1EBS(E]: 1~120mn
o ot B8] MF-T1.8 : 3~100cc
MF-TO3 : 5~1B0cc
N 1 FG-35K (AMG P-OIMF-TO3)
o RIREEREE : FS-AMEER R
- REEY : 03A

* Type of fuid : Ois
* Recommended oil

Winter — bebw 32c¢St

Summer — belbw 68cSt
* Material

Case & Cover : Phgic (ABS)

Tank : Pasic (ABS

Gear pump : Steel

Saft guide : Pagic/ALDC
» Temperature : below 80T
+ Oil Supply method : Froportional
» Controler mehod : Analog type
* hterval time : 1~ 120min
» Discharge time : MFT1.8 : 3~100cc

MF-TO3 : 5~150cc
* Pressure Gauge : PG-35K
(AMG P-0IMF-TO3)

* Float switch : FS-A(OPTION)

External dimension M

» Fuse 1 03A
v nenval tne RRARIRTERM
Discharge Time Interval Time
(ot B8] ) ( [E1pm B[] )
1~10sec B¢ 23 2min I E
11~30sec B £ 3min M E
31~60sec B 2 5min P E

L ) e 61~99sec B £10minkd t
Circuit diagram B % & Electric connection %4k & = o

I RAEHENSESETE, FNEESRA
AMGP-01M(F), O1MF-T03 FEEBIFROTIE], 4q05R (B1FR B (81X L0t HY B
I (Resistive method ) CONNECTOR]_PLUG DEPOWER BidsE, BYFENTEEESHAIR

* 1RED SEERM, EmEEmELTE RS
ZBLACK e R REBENE,

CONNECTOR| PLUG FLOAT S/W OPTION m As this pump occurs the high heat in motor when

= D2POVER working, set the interval time following the
© @\|(® O\ saLaarm information. The motor stops automatically by high
® ®/|\@ @/ | ¥RED 2BLACK motor heat, causing the interval time is shorter

SWHITE 4GREEN than discharge time. But the pump works
normally after motor cooling.

o O wmommmeose 10+ 11—

———




AMGP-01S(F) Series

B AMGP-01M B 5 1% BAnalog Timertis 61 R 4:, ol #7818k
Afh, SHEOARAEREAEFH,

B Analog Timer A XA ZEHTRFEHIREIFF X, TUHENIRERSH
B 5 REEE, REEE/), FTURNREHRIFHE,

WS ERER E ARG IR IMLEDFRIR M Sk, ST BB
SHERT.

BT UERAR BN EMA HEROKE, TEEIMNEEFEER,

B RRE LK BFEEDZE, SEXAHEN, TUREZHVHEXNA
HN==, ENTUHAERTRHE,

BZEATIARERE, DRRE, RRRE, HRRE, FBR
EREMF IR EESE,

AMGP - 01S F 110

Pump dvision J

REAX

Float siw Option
W R FF %
No mark : None
F :Contaned

Voltage (V)
HE

m AMGP-01S series pump lubricates intermittently the oil by analog timer
installed inside the pump with resistive distributor. (DB type]

m This type is applied analog control system and by turning left and right
directions, it can easily control the interval and discharge volume.

m Because the LED lamp plate is fitted in front of the pump, it is suitable to
check the operation conditions and the trouble.

m This pump has a terminal to contact outside controller to alarm the oil
shortage(option)

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1@, Poles 2P
Discharge| Interval | Working |Reservoir| .. . Net
Tvpe volume Time | Pressure | capacity V|scos;2/ Bl weight Motor | Fre- | Rated
e e EfERE | £AED | BE ETS%E > Dis.jl_u =8 Output | quency | voltage [Current
cc min MPa Q kg HE | Hx | BE | BR
W Hz Vv A
30 50 |100/200|1.4/0.7
01S 1/8"
3~85 2~100 0.8 1.8 ~ 2.8 15
01SF ()
500 60 |110/220|1.2/0.6

. pump for all, all for pump



"

\

Analog controller type
|

External dimension M Applications &
(weeoE enay

 HEE I 298 —32cSt T
BOHf— 68cSt IR

- #R
e R HFE Rz H M 5 © Plastc
6 Plastic
HWRE : Seel
@ Plastic
« FREE: 80C LT
FEAA EHIR
424 770 Analog type
« RAIERRER FSALEE S R)
. {RPE L2 03A

* Type of fuid : Ois

* Recommended oil
Winter — below 32c¢St
Summer — belbw 68cSt

* Material
Case & Cover : Phgic (ABS)
Tank : Plasic (ABS

Gear pump : Seel
» Temperature : below 80C
+ Ol Supply method : Rroportional
» Controler mehod : Anabg type
+ Float switch : FS-AOPTION)
* Fuse : 03A

@ hterval Time LED
@ Oil Level down alarm

@ Discharge Time LED
@ FEED Button

(Ol Manual Supoly)

® Discharge time Volume

Discharge Time Interval Time

( ot HES(E ) ( [B)fm At iE] )
1~10sec B 9 2min DL E
11~30sec B 24 3min M E
31~60sec B 2y s5min W E
61~99sec it 2910min L E

Circuit diagram [E]%E Electric connection 4k JELEL: 3= 00 FL iy Vot Mot b

BT EIFRET[E], 205 (8RR AT (B)XT bo ot HY B
v B, A 0 R S WA R
b1t (Resislive melhod) SRERN, RMBNEEILETE, A
LRETHREBRENER,
CONNCTOR PLUG | ®@POWR

OUTLET % 1RED
@ 1 S @ @ 2BLACK
FLOAL SHITH CONNECTOR| PLUG | FLOAT SW OPTION _ _ _ :
./ (OPTION) = DEPOWER when working, set the interval time following
@ @\| /@ @\| e@oL ARy the information. The motor stops automatically
@ @/|\@® @ | *RED 2BLACK by high motor heat ,causing the interval time

3WHITE 4GREEN . ) .
is shorter than discharge time. But the pump
works normally after motor cooling.

m As this pump occurs the high heat in motor

ANK

o O mmammacase 124 13—




AMGP-013(F) / 015(F) Series

BAMGP-013 ( F) /015(F) B & & EAnalog Timerf9z=H %4,
TN TEE RS, SHAIRAEREESE M,

EAERRANBRmEANS L TUER, BAREVNEHENS,

BEHREHOH A,

BETMEARENEMR EERNEKS, TEEMNEHIEER,

BREERKAFEEDIZ, HERHERN, TMURAZNHLX

A==, FEETUFRAERTRES T,

BZEATIURRE, BDRIRE, RARE, HRRE, FTER

AMGP - 013 F 110

Pump dvision

X5
01, 015

Float siw Option
RT3
No mark : None
F :Contained

Voltage (V)
BE

m AMGP-013, 015 Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor{DB type).

m This type is high endurance because it is made anti-vibration structure

to protect shock and vibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.(Option)

m As the pump is installed feed button switch front side of pump, it is easy
to remove the air and to operate by manual after setting the pump.

m This pump is mainly used machine tools, printing, foods, fabrics,

BEREMEVREES, injection machine, press and various industrial machine.
Disch | U | Work ; N Phase 1, Poles 2P
\I/f)clu:ge rjlfifnnf Pr:;srrgz lie;)earcvi?;/r Viscosity |- Outlet weiztht Motor | Fre- | Rated
Current
ype e EpBEtEl | SERESD BE E}ﬂ;&g uipﬁ_l_u S Output | quency| voltage
cc min MPa 0 ¢ kg TR | gk | BE EEEE
W Hz V
. 50 [100/200| 1.4/0.7
013 1/8
5~100 3~30 0.8 1.8 30~500 2.8 15
013F (4)
60 |110/220| 1.2/0.6
50 |100/200| 1.4/0.7
015 1/8"
O15E 5-80 30~120 08 18 30~500 (@) 28 15 |
60 |110/220| 1.2/0.6

—_——— . pump for all, all for

pump



Analog controller type

\
o
—aet ™

External dimension JMEE Applications i& F3

«fE AR Ols
o HEFE S | &4 B — 32¢St O[5}
B h— 68cSt 0[5}

s MR
25148 Pastc
= Aumhum
JH#E : Plastic
=3k . Seel
Sm@E : Fastc
fEARE: 80T MU
fERAR: AR
<32 %17 20: Analog type
o RO RS FS-ALEBEAR)
< RSLZL 1 3A

* Type of fuid : Ois
* Recommended ol
Winter — belbw 32¢St
Qummer — bebw 68cSt
* Material
Cas : Phstc (ABS)
Cover : Auminum (ALDC)
Tank : Pastic (ABS)
Gear pump : Steel
Saft guide : Pladgtic
» Temperature : below 80°C
+ Oil Supply method : Froportional
» Controler mehod : Anabg type
* Float switch : FS-A(OPTION)

*« Fuse 1 3A
o erval e SRARIEESME
Discharge Time Interval Time
(of B8] ) ( [a)pR e iE] )
1~10sec B 2y 2min ML E
11~30sec B 29 3min M F
31 ~60sec ft £ Bmin L+
61~99sec it 2910minll k£

Circuit diagram [B] & & Electric connection #£k & EREEKRNEERESE, MUGESRE

FILE BRI E], 405 81FR e Xt Lot

B, BT SEESEARITNG
AMGP-O13(F), O15(F) SRERN, EREEHELETE, RE
A (Resistive method)

HRETREBENER.

CONNECTOR|  PLUG | ©@POWER

@ 1 OUTLET * 1RED
<}>

2BLACK

m As this pump occurs the high heat in motor
FLOT. SHicH CONNECTOR|  PLUG | FLOAT S/ OPTION when working, set the interval time following
®E@POWER . . .
OE0IL ALARM the information. The motor stops automatically
XTBLACK 4WHITE by high motor heat ,causing the interval time

/" (OPTION) =
© @
@ G
is shorter than discharge time. But the pump
ANK works normally after motor cooling.

®
©

©e
CiS

2RED  3:GREEN

o SR T | —



AMGP-025N Series

ARYUNG

BAMGP-013 ( F) /015(F) B 5 A& & Analog Timertyi#l R4, of
W TEERRE, SRS RRASHER,

B EREHRTEENNSOIUER, BARENRHEMS, &

HRGFHIM Ao

B DRAR B A R SRS, TERERMBRGEEM,

B ZRARKEAFEEDIRE, HEXRHEN, JUREZNHLXA
==, ENTUFAERTRE .

EZERATFIRRE, BRIRE, RRRE, $RRE, TBRE

AMGP - 025N - ST 110

Pump division
RX 5

Reservoir Material

No mark : Plstic

ST - Steel
Voltage (V)
BE

mAMGP-025N Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor(DB type).

m This type is excellent endurance designed anti-vibration structure to
use much shock or vibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,

RERM=VEEES, injection machine, press and various industrial machine.
Phase 1@, Poles 2P
Discharge| Interval | Working | Reservoir | ., . Net
volume Time | Pressure | capacity ety - e weight Motor | Fre- | Rated
Type _ . A A= EEE | Lo 2 0 L Current
= EpEEY[E] | SEAES BE oSt PT g8 utput | quency | voltage 857
cc min MPa 0 kg hE | iz | BE A
W Hz V
50 |100/200| 1.4/0.7
30
025N 1/8"
025N-ST 3~60 3~120 0.8 4.0 560 () 2.8 15
60 [110/220| 1.2/0.6

. pump for all, all for pump




Analog controller type

\
o
—aet ™

Applications 1& F

A Os
<HEE D £SR—32cSt T
M- 68cSt LT

s R
#  :Aumhum
JHFE: Plastic
=F0MFE: Pastc / Steel
&=k : Steel
SHE :Pastic

s EAEE: 80C LT

< AR AR

- 241772 Analog type
o WALfE RS FS-A

o (RG22 3A

* Type of fuid : Ois
* Recommended ol
Winter — bebw 32c¢St
Summer — belw 68cSt
* Material
Case : Aluminum (ALDC)
Cover : Plastic (ABS)
Tank : Pastc (ABS / Steel
Gear pump : Seel
Saft guide : Phadic
» Temperature : below 80T
+ Oil Supply method : Froportional
» Controler mehod : Anabg type
* Float switch : FS-A

External dimension JMEE

* Fuse : 3A
v inerval tme. BARIRESME
Discharge Time Interval Time
(ot B (E] ) ( [EfEETE )
1~10sec Bt 29 2min L
11~30sec Bf £ 3min DI E
31~60sec B 25 5min DL E
61~99sec b 2110min M E

Circuit diagram [B] 2§ & Electric connection #£4[& B REERNSES RS, FUBESRE

FREEIRETE], 0 RIEIFGE % thof et

AMGP-0Z5N EIE, AL AR R AR

LBt (Resislive method) SRERN, AMEVEEETE, K5
_ LR TREBERE R,

OUTLET T CONNECTOR[ PLUG | U2POWER ) s

@ % 1RED
. 2BLACK
0
m As this pump occurs the high heat in motor

CONNECTOR(  PLUG F(%%DA; OSV</\AE/RO PTION when working, set the interval time following
® @O\ /D O\| omoL asrv the information. The motor stops automatically
® 0/|\® @ | *1BLAK 4WHTE by high motor heat ,causing the interval time

ZRED  3GREEN is shorter than discharge time. But the pump
works normally after motor cooling.

;
TANK <

O wwommseone 164 11—

o



AMGP-**NS Series

B RFEBRRERARERNEHEERNE, 5Measuring valve
( ARD-340, 350.PVOtype ) ‘HEF M,

NiRE AN RIS R MR A B RE DR, BTSN
Bl TER,

URAEREKEFEEDRE, SEXHEN, JUREZNAHEAN
==, BETNHAETEH,

B R EERR, NoUESEEEM,

BOZEATIURESE, RIS, RERE, TERE, HTARRE
iR &%,

AMGP - O01INS - TO3 110

Pump division J

RX 5

ONS
OBNS
025NS

Reservoir capacity (0 )
BE

No mark : 1.8

T03 : 30

Voltage (V)
BE

m AMGP-01NS/025NS pump is a resistive and intermittent pump, using
with measuring valve.

(ARD-340,350 and PVO typel
m This pump have float switch and pressure switch inside to check the oil

shortage and connect the outside terminal on main machine to control
the working conditions by monitoring.

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This type is a kind of intermittent pump, so that the continuous
operation should be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

. . . Phase 1@, Poles 2P
Discharge| Working | Pressure Reserv.mr Viscosity | Outlet N'et Motor T Fre- | Rated
volume | pressure | range | capacity = | o weight
Type g ERAES | EHLE AR Eﬁﬁft&x iPTEl 58 Output | quency | voltage |Current
cc/min MPa MPa 0 ¢ kg ThE | AR | 8E | AR
W Hz V A
125 " 50 |100/200| 1.7/0.8
OINS | 1.7 0.2~1.7 1.8 30~500 1/4 3.0 25 e
015NS (6]
150 60 |110/220| 1.8/0.9
125 18" 50 |100/200| 1.7/0.8
O0INS-TO3 | 1.7 0.2~1.7 3.0 30~1000 (@) 4.0 25 fee
150 60 |110/220| 1.8/0.9
125 18" 50 |100/200| 1.7/0.8
025NS 1.7 0.2~1.7 3.0 30~1000 40 25 b
(6]
150 60 |110/220| 1.8/0.9

. pump for all, all for pump



Monitoring controller type
-
e

External dimension JMEE Applications i&F
R o

HEF M S8 — 3208t IR
B4R 68cSt AT
- MR

=HFE: 8 (ALDC)

= By

e B

WHER Seel

SmE 8 ALDCYKNERER
* AR 80C LT
foaFR TER
o 2% = R B (Montorng
s AR RS FS-AB
s EAFE S
NEWAE . T FG-35K

* Type of fuid : Ois
* Recommended ol
Winter — below 32¢St
Summer — below 68cSt
* Material
Case : Aluminum (ALDC)
Cover : Pastic (ABS
Reservoir : Plastic (ABS)
Gear Pump : Steel
Saft guide : Aluminum (ALDC)
Buit in Relief valve
» Temperature : below 80°C
» Ol supply method : Measuring
» Controler method : Monitoring
* Float switch : FS-AB
* Pressure switch : PS-11
* Pressure Gauge : PG-35K

Discharge Time Interval Time

( ot B jE] ) SELEEMEN
1~10sec B¢ 25 2min U E
11~30sec 0 24 3min M E
31~60sec Bt 2 5min L
61~99sec B 2910min Wk

B RAEZENSHESE~E, INFESRE
FIREEIRETIE]. 405 8] F% B [BIXS Lo ot i B

v BT, BT RS SR AR
Circuit diagram [B1E%[E Electric connection %%k SEBERY, BMENEDELETE, RE

YRETREBEMER,
st (Measuring method)
@ QT_W [(1]2]3]«]5]6]7]8]9]10]
S

M As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time

HANUAL FLOAT PRESSURE EARTH is shorter than discharge time. But the pump
= ? | S S S works normally after motor cooling.

o O mweneose 184 19—




AMGP-200NS Series

B rFABBRABERMEHEEX R, S5Measuring valve
( ARD-340, 350.PVOtype ) A&,
B HHA AR DURRI MR A E BES R R D FF S, B IS5
2SR A

B RAEREAFEEDR, HEXHEN, JUREZNHREAN
==, BETNFBETENHEH,

Wb RAEERR, FaEgEREER,

B ERTIRES, BRRE, RORE, ABRE, TREE

Reservoir capacity (0 )

AMGP - 200NS - TO3 110

Pump division

Voltage (V)
HE

e

S 0
fein

= AMGP-200NS pump is a resistive and intermittent pump, using with
measuring valve{ARD-340,350 and PVO type).

m This pump have float switch and pressure switch inside to check the oil
shortage and connect the outside terminal on main machine to control
the working conditions by monitoring.

m As the pump is installed feed button switch inside of pump, it is easy to

remove the air and to operate by manual.

m This type is an intermittent pump, so the continuous operation should
be prohibited.

R EE, m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
_ . Phase 1¢, Poles 2P
Discharge| Working | Pressure Resew.mr Viscosity | Outlet N.et aor | e |
volume | pressure | range | capacity weight
Type wE | BAEN | EhuE | as | DEBE| HEO .o Output | quency | voltage |Current
cc/min MPa MPa 0 cst PT kg wE - OEE | BE | B0
W Hz V A
200 50 |100/200| 4.8/2.1
200NS-TO3 | 2.0 0.8~2.5 3.0 30~1000 | 1/4"(gg6) | 5.4 42 TR s
240 60 [110/220| 5.0/1.8
200 50 |100/200| 4.8/2.1
200NS_T06 .................... 20 08,.,25 60 30,.,1 000 1/4"[ @6] 58 42 .................................................
240 60 |110/220| 5.0/1.8

. pump for all, all for pump




Monitoring controller type

External dimension I Applications &

« R Ol
o WEE R £ H—32cSt LT
ESH— 68cSt U

o MR

=H1FE: 48 (ALDC)
L

shis - BR

WHE Seel

SmE 48 (ALDC) NERER
fEFRE  80C LT
AN EER
FEHIF R %E (Monitoring
A RES FS-AB
JENFFE : ps—11
JENFER T PG-35K

* Type of fuid : Ois
* Recommended oil
Winter — bebw 32c¢St
Summer — belbw 68cSt
* Material
_ Case : Aluminum (ALDC)
Cover : Plastic (ABS)
Reservoir - Plastic (ABS)
Gear Pump : Seel
Shaft guide : Aluminum (ALDC)
Built in Relief valve
» Temperature : below 80C
* Ol supply method : Measuring
* Controler method : Montoring
* Float switch : FS-AB
* Pressure switch : PS-11
* Pressure Gauge : PG-35K

Discharge Time Interval Time

(ot tHEd(E] ) ( [E)pmEY(E] )
1~10sec B 29 2min DL E
11~30sec A 24 3min M E
31~60sec it 24 5min L F
61~99sec i} 2910min L E

D : T B REERESEERSE, FURESRE
Circuit diagram 5] E& & Electric connection #%Zk[E SR, IR o e
B, BYFENTEREREARNR
ERERA, AMEfamELTHE, A5

[1]2]3]4[5]6]7]8]9]10]| wmETHEmEmES.

E (Measuring melhod)

m As this pump occurs the high heat in motor

when working, set the interval time following
MANUAL FLOAT PRESSURE  EARTH the information. The motor stops automatically
S S S/ by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

71

o O wmammaesie 204 2] ——




AMGP-01N/02N Series

BAMGP-01N/O2NESE A MR 2 A 2 &l EkmEliEEE S
B2, SRENE S, FETE, TRt F = fF B 55 Measuring
valve ( ARD-340, 350.PVOtype ) H&F M, (ZEEANFHN
FELEMER ) o

BABRENFETEDBTUEBED, ZHBRES SHHERE,

mERAEERR, TNUESREEER,

BZERATIKREE, HRRE, RARE, B8RS, PRE
Bl RES,

AMGP - 3M2 - 0IN - TO3 - TY S

Voltage division J

R
3M2 1 30, 220V, 506 0Hz
3M3 : 3¢, 380V, 50/60Hz
3M4 - 39, 440V, 50/60Hz

Pump division
ZHX 5
ON, O2N

Reservoir ca pecity
z20)
TO3:3,T06:6
T2 112, T20 : 20

Reservoir type

BiE A=

TY :Wall mounting

B ESE @

TZ : Bottom mounting
B & Hthm

Pressure switch (Option)

EhFFx

m AMGP-01N and 02N type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valvelARD-340,350,PVO type).
(When you use it measuring type, the venting valve have to be attached.)

m The pressure can be controlled because the relief valve is attached, and
it is easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

Discharge | Working | Pressure | \. B Motor | Phase | Fre- Rated
T volume | pressure | range thF okt O Output *ﬁ/& quency | voltage | Current
Mg TR | EAEH | EHEE ﬁﬁﬁsfﬁ ol hE Poes | WE | &E 87
cc/min | MPa MPa ¢ W oy Hz v A
200 0.27
85 50 380 0.17
08 30 18" 30 M5 | o3
01N 2.0 ~ ~ 25 /
20 500 (6) 4P 220 0.24
100 ’ 60 380 0.14
440 0.12
200 0.27
170 50 380 017
0N 20 08 %0 18" 30 a5 | 013
..................... : - - () 25 / e
20 1000 4P :
200 60 380 0.14
440 0.12

. pump for all, all for pump




Monitoring controller type

-
Applications 1&H

CwoNaN e o

o A £9B—32cSt BUR
HEM—p8cSt T

External dimension JMEE

« R
Bl @ %8 (ALDC)
HHE  Seel
5 Seel
FJ:R O Seel
W@t Fastc (PC)
BHFEAM®: 48 (ALDC)
- FARE 1 80C LT
s A EEI/ER
- IR ¢ & (Montorhg
o BIAERRER: FS-A
s EAFR HEERER
s EA%E L PG-35K

* Type of fuid : Ois
* Recommended ol

Net Winter — bebw 32c¢St
weight Summer — belw 68cSt
e A 0 ¢ 0 . F 6 H J Egi * Material
Kg Motor flame : Aluminum{ALDC)
Gear pump : Seel
01N-TO3 280 | 300 | 320 | 290 | 135 | 145 |95x145| 24 160 7.4 Resenvoir © Seel
Phte : Seel
01N-TO6 | 300 | 320 | 346 | 310 | 195 | 210 |9.5x145] 24 | 160 | 8.1 Level qauge : PasticiP0)

Relief valve : Aluminum(ALDC)

» Temperature : below 80T

+» Oil Supply method :
0TN-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12x17| 29 | 160 | 15.0 Measurng method

Proportional mehod
02N-T03 280 | 300 | 320 | 290 | 135 | 145 |95x145| 24 160 7.4 « Controler method : Monitorng

* Float switch : FS-A

* Pressure Gauge : PG-35K

0IN-T12 | 363 | 386 | 416 | 373 | 234 | 240 |11 x16| 24 | 160 | 9.8

02N-T12 | 363 | 386 | 416 | 373 | 234 | 240 |11 x16| 24 | 160 | 9.8

02N-T20 | 470 | 500 | 520 | 484 | 316 | 322 [12x17| 29 | 160 | 150 Electric connection #%£k[E
#3—PRESSURE S/W
Circuit diagram [o] 2§ [&]
1123|4567
Hst (Resistive method) st (Measuring method) L\l L\l
® FLOAT PRESSURE
[ o S/W S/W
EREnE] i
i ﬁ i 112345
TANK FLOAT
Lt L o w0

o O wmanmaaane 224 23—



AMGP-03/05 Series

B AMGP-03/05NE /8 MR 2 A HE SR EkmtlER TS
7, SRENES, BEARE, TRURLAIRE A5 S5Measuring
valve ( ARD-340, 350.PVOtype ) HEFMH, (ZTE

BEREMER) .

B ARRENBETENRTUOBTEN ZHBRES 5 HERE,

wiEAEERE, TUESREEER,

EZERATIRES, BRRE, RORE, ABRE, TREE

AMGP - 3M2 - 03 - TO3 - TY S

Voltage division J

BB
3M2 : 3@, 220V, 50/60Hz
3M3 : 3@, 380V, 50/60Hz
3M4 : 3@, 440V, 50/60Hz

Pump division
REX 5
03,05

Reservoir capecity
=E0)
TO3:3,T06:6
T2 112,720 : 20

Reservoir type

BiE =

TY : Wall mounting
ERRR

TZ : Bottom mounting
iz

Pressure switch (Option)
SRS

= feE A

m AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring

valve (ARD-340, 350, PVO type).

m Whenyou use it measuring type, the venting valve have to be attached.

m The pressure can be controlled because the relief valve is attached, and
itis easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should

be prohibited.

LRSS, m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
Discharge | Working | Pressure | . . Motor | Phase Fre- Rated
Viscosity | Outlet ¥
T volume | pressure | range = | o Output / quency | voltage | Current
ype wE | BRESH | EHEE ﬁ@?x or mE | ol | wx | e B
cc/min | MPa | MPa © w g | Hz v A
200 0.54
250 08 30 /g 35 50 380 gg;
03 20 ~ ~ 50 / ......... 415 ...... T
' 25 000 | 99 4P 220 06
300 ’ 60 380 0.35
440 0.30
200 0.54
8 | w4 3 | @] 2|
05 ..................... 20 ~ - 50 / ................................................. R
25 1000 (6) 4P 220 06
500 : 60 380 0.35
440 0.30
—_——— . pump for all, all for pump




Monitoring controller type

-
Applications &EH

| aveP030s LEma o
 WERE RO —32cSt LT

LB — 68cSt LT

External dimension JMEE

s MR

Bl %8 (ALDC)

HHE : Seel

JHEE : Seel

=R Seel

W@ : Aastic (PC)
EHEDR 58 (ALDC)
fEEE 80CIT
Bt s Wk = W = oy ] =¥
ZH AR L (Montorhg
RNERRES: FS-A
cEAFFE EFER
EAFE T PG-35K

* Type of fuid : Ois
* Recommended oil

Net Winter — bebow 32cSt
Type A B C D E E © H J nght S mmer — below 68cSt
= * Material
Kg Motor fame : Aluminum(ALDC)

Gear pump : Seel
Reservoir : Steel

03-T03 | 280 | 300 | 320 | 290 | 135 | 145 |9.5X145| 24 | 160 | 9.6

Phte : Steel

03-T06 300 | 320 | 346 | 310 | 195 | 210 |9.5X145| 24 | 160 11 Level gauce : Phstic(PC)
Relief valve : Aluminum(ALDC)

03-T12 363 | 386 | 416 | 373 | 234 | 240 | 11X16 24 | 160 13 » Temperature - below 80°C
+ Ol Supply method :

03-T20 470 | 500 | 520 | 484 | 316 | 322 | 12X17 29 | 160 17 Measuring method
Proportonal mehod

05-T03 280 | 300 | 320 | 290 | 135 | 145 |95X145| 24 | 160 9.6 + Controler mehod : Monforing
* Float switch : FS-A

05-T06 | 300 | 320 | 346 | 310 | 195 | 210 [9.5X145| 24 | 160 | M * Pressure swich - Option

* Pressure Gauge : PG-35K

05-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 13

i i =2 E
05-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12x17 | 29 | 160 | 17 Electric connection £

#3-PRESSURE S/W
112(3|(4(5|6]|7
Circuit diagram [E] % & L\l L\l
il (Resistive method) o et (Measuring method) Q FLOAT PRESSURE
N e @3
- Dt &
i ﬁﬂ | 1]2]3|4]s
i : =
| = |
| | FLOAT
. | S/W

o O manmense o 1)



AMGP-03C/05C Series

B AMGP-03/05NEL 8 MR 2 4% 2 & F s Bkl ER B =15
7, SRENES, BEARE, TRURELAIRFE A S5Measuring
valve ( ARD-340, 350.PVOtype ) H&F M,

FEREMER ) .

BASLZENETENDRTUETEN ZHBRES 5hERE,

B R EERR, NTESEEER,

Bz EATIURRE, BRIRE, RRRE, TBRE, HTARARE

(e EmAN

AMGP - 3M2 - 03C - TO3 - TY S

Voltage division J

R
3M2 1 3@, 220V, 50/60Hz

Pump division
RHX 5
03C, 06C

Reservoir capeacity
SEWQ)
TO6 : 6
T2:12,720:20

Reservoir type

BiE 7=

TY :Wall mounting
HARE

TZ : Bottom mounting
TR

Pressure switch (Option)
SRS

m AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring

valve (ARD-340,350,PVO type).

m Whenyou use it measuring type, the venting valve have to be attached.

m The pressure can be controlled because the relief valve is attached, and
itis easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

el iR &%, ® This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
Discharge | Working | Pressure | . . Motor | Phase Fre- Rated
L Viscosity | Outlet 0 FrEve L C
Type volume | pressure range o oM O utput / quency | voltage urrent
e FAEN | EHEE oSt > T &R Poles LIES BE i
cc/min MPa MPa W B Hz Vv A
250 08 0 . 3 50 200 0.54
03C 20 ~ ~ (6] 50 2 S O R
300 23 1000 4P 0 | 20 | 06
420 08 0 e 3 50 200 0.54
os5C 20 - - (@6) 50 /2 SO FOTO R S
500 25 1000 4P 0 | 20 | 06

. pump for all, all for pump




el

[5] 2% &

EE

iE

{5 F A Oils

s Al L4 8 -32¢StIUT
S B+ -68cStILT

M5

A 45(ALDC)

W3R Steel

JH#8:Steel

=R Steel

7R ET:Plastic(PC)

B & R:48(ALDC)

f#FEE:80°CIUT

#hmXEE/tFR

241 7520 It (Monitoring)

BB RIS FS-A

ERFFX. EmBEEH

EHF:PG-35K



Monitoring controller type

AMGP-053 Series

BB RS BHTEENERRR, S5 TNESIZ, b
hE, BEN, KABNREREVHEOMHE, TUESEERX
2B ( ARD SERIES,PVO SERIES ) A&,

B ARRENBETRTETES, FLEAHERRE, TE
SNEEEA TR

B FAEERE, TUESEEER,
BZERATFIRES, BRRE, RORE, ABRE, TRE

AMGP - 3M2 - 053 - TO06

Voltage division

R

3M2 - 39, 220V, 506 0Hz
3M3 1 39, 380V, 50/60Hz
3M4 1 30, 440V, 50/60Hz

Pump division

RX 5

Reservoir capacity (4 )
rE

Phstic(Standard) :

TO6 : 604

SeelOption) - T12, T20

m AMGP-053 type is a kind of intermittent pump in stalling outside
controller. It is used mainly the remote location or many lubrication
spots with measuring distributor.(ARD Series, PVO Series)

m As the pump is installed Relief valve and Float switch inside of pump. It
is easy to control pressure and the oil shortage.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection

B lRES, machine, press and various industrial machine.
Discharge | Working | Pressure| .. . Motor | Phase | Fre- Rated
Viscosity 1% L Current
Type volume |pressure| range ERRE Out-let Out-put / quency voltage 7
AR | ERED | EAEE | | oo PE | poles | X i A
cc/min | MPa MPa W TRy Hz \%
420 Ms1t4XL-5Pd 50 | 200/380/415 | 0.79/0.43/0.39
AMGP_053 ........ 28 08~30 20_1000 [P‘??/Aa"r 90 3@/4'3 Y
500 - Option) 60 | 220/380/440 | 0.63/0.37/0.39
External dimension M [E Circuit diagram [B1#%[E
, OUTLET
Venting Vatve- =
. T

Refief Valve—] ?

. pump for all, all for pump




Manual type

ALP-8LF Series

ALP - 8 LF - L

Discharge Volume

SExE=
mE

Pump division
RX5

Discharge drection
o O J5

L Left

R :Right

D : Doubk

B EMRBERSE, NESRRPTEY . m This type is a kind of manual lever pump, and it has a check valve
inside to prevent the oil from reserved flowing.

B\IRERERS, m ltissolightand small that easy location and can install 20~40 points.

= This pump is mainly used machine tools, printing, foods, injection

BEATHREE, HRRE, RORE, TBERE, PRRESH machine, and various industrial machine.
FliRES,

' 0 _‘.-‘l:g = g . 0 \g
ALP-SLF External dimension %[ Applications 1&H

- EARE: Ol
275 P KB — 3205t OJ3k
B — B8cSt 0fat

- TR

B4 48 (ALDC)
15 A& Eit: Plastc (PC)
HEEFR  EER

1~40 « Type of fuid : Ols

* Recommended ol
Winter — below 32c¢St

600 Summer — below 68c¢St

* Material
Reservoir : Aluminum(ALDC)
Level gauge - Pastic(PC)

+» Oil Supply method :
Proportonal mehod

30~1300

1/8"

1.4

o O wmsmmgesie 284 29 ——




Manual type

ALP-7LH Series

ALP - 7 LH - R

Discharge Volume
TR

Pump division
S

Handle direction
FIMAME

L Left

R Right

BB ERSE, NESRRPTIEY . m This type is @ manual lever pump, and it has a check valve inside to
prevent the oil from reserved flowing.

B o LA E, m Itis possible to adjust discharge volume and to install 20-40 points of
lubricating place.
BEAFHURERE, DRIRE, RRERE, TBRE, HRRER
iR ES, m This pump is mainly used machine tools, printing, foods, injection
machine, and various industrial machine.

ALP-TLE External dimension 4k & Applications 1&

fERABIK: Ol
. <HEE A £ — 3205t 0]5}
B ggest ofst
Ly
Bl 158 (ALDC)
0.55 it : Plastc (PC)

R R ER

1~40
» Type of fuid : Ois
* Recommended oil
Whter — below 32cSt
800 Summer — below 68cSt
+ Material
Resenvoir - Aluminum(ALDC)
30~1300 Level cauge : Phstic(PC)
+ Ol Supply method :
Proportional mehod
1/8"
12

. pump for all, all for pump



Proportional Distributor

DB Series
DB - 4 M
Digtributng points J
SR IRFLEL
Srew sze ff branch pipe
X EENAE
M: M8 X 1.0p
PT 1 PT 1/8"
; B DB type HELBIR A ECR, SFEITRRA m DB type is a kind of proportional distributor
Central | Branch | Using . ] .
T : i ESESEN using with resistive pump.
ype pipe pipe |pressure
i EiE £
e | xBE | BAES B T 5Flow unit,Check valve % B EfF m This type have 3-10 holes to use by
DB—*M | M8x1.0p| M8x1.0p 0.8 MPa HEE O BA3NEN01, combining flow unitand check valve.
DB-%PT| PT 1/8" | PT 1/8"| 0.8 MPa

External dimension JMEE Type | Point Dimension wtli%t
A|B|C D E|F |G| N|N|EE

DB3M | 3 = | - | 30 [M8x1.0p| 95 235 14| 3 | 1 31

DB-4M | 4 | 16|36 | 48 [M8x10p| 11| 28 [ 13| 4 [ 2 [ 65

DB-5M 5 |32 52| 64 |M8x10p| 11| 28 13| 5 | 2 | 82

DB-6M 6 | 486880 |[M8x10p| 11|28 |13] 6 | 2 | 102

DB-7M 7 | 64| 84| 9 [M8x10p| 11| 28| 13] 7 | 2 | 123

DB-8M | 8 |80 [100]112|M8x1.0p| 11| 28 |13 8 | 2 | 145

DB-10M | 10 [ 112132 144 [M8x1.0p| 11| 28 [ 13| 10| 2 | 186

g g Net

Type Points Dimension weig;ht

A|lB|C D E|F |G| N|N| BE

DB-3PT | 3 | - | 30| PT1/8" |95|235] 14| 3 | 1 | 31

DB-4PT | 4 [ 16| 36|48 | PT1/8 [ 112813 4 | 2 | 65

DBSPT | 5 |32 /52| 64| PT1/8 [ 11]28 13| 5 | 2| 8

DB-6PT | 6 | 48| 68|80 | PT1/8" |11 ] 28| 13| 6 | 2 | 102

DB-7PT | 7 | 64 | 84| 9 | PT1/8" [ 1128 13] 7 | 2 | 123

DB-8PT | 8 |80 [100[112] PT1/8" | 11| 28 [13] 8 | 2 | 145

DB-10PT| 10 |112[132[144| PT1/8" [ 11 28 | 13| 10 | 2 | 186

Assemble flow unit i& 5l

/
O O Www.aryung.co.kr 30+ 3



Proportional Distributor

AR-B Series

AR - B 4

Digtrioutor division J

REX 5

= Dlgr ibu“ng pOin :
S ECIRFLE

BAR-BEMEALLBIRN A ERIE SR EES B AR-Btypeisakind of proportional distributor

Cenire] | Erenelhy) Using (EdEE using with resistive pump.
Type pipe pipe |pressure

TEE | XEE | FHEEH )
= e " B ] 5Flow unit,Check valveZ B &, H#  m This type have 1-10 holes to use by

AR-B¥ | PT /8 | PT 1/8"| 0.8 MPa EOEMIPE10D, combining flow unitand check valve.

Circuit diagram [5] 2% [E]

Type P[?\;Tt Dimension ngjt
A B © gi
B1 1 40 0 20 21
B2 2 63 23 43 88
B3 3 86 46 b6 45
B4 4 109 69 89 57
B5 5 132 92 112 69
Bé6 6 155 115 135 81
B7 7 178 138 158 93
B8 8 201 161 181 105
B9 9 224 184 204 117
B10 10 247 207 227 129

Assemble flow unit i& Fi

. pump for all, all for pump



PVO Series

B PVORERREATEENUORSE, EBILFENTEE—
EENEBDITENTENEHTHE,

B ORENIRELE/), EATHEEEBRS.
B MRS SDBE BB EE A,

o o A
External dimension JMEE

Measuring Distributor

N ©

PVO - 3 M

Digributng ponts

D ECHRFLER

Central pipe screw sz
12 22 IFE

No mark : PT 1/8"
M8 : M8 X 1.0p
M10: M10 X 1.0p

® The PVO measuring valve is made to use intermittent system, and can
lubricate the oil by piston stroke.

m ltis suitable to utilize precision lubricating system because of little
allowance of ailing.

® ltis combined with DB type distributor when installing system.

Discharge Using Bore of pipe
Tvoe Volume pressure L
P i 1 ERED mm
cc/st MPa (A) Bl
PVO-3 0.03 0.8-3.0 445
PVO-5 0.05 0.8-3.0 445
PVO-10 0.10 0.8-3.0 445 PT 1/8"
PVO-20 0.20 0.8-3.0 5815 M8X1.0P | M8X1.0P
PVO-30 0.30 08-3.0 535  MI10X1.0P
PV0-40 0.40 0.8-3.0 65.0
PVO-50 0.50 0.8-3.0 65.0
Assemble flow unit 1&FHl Example i& F
(1) (2) (3)
Before Venting Venting Measurng
(Sartihg pump) {(Operatng pump) (Sopping pump)
A

O wmsmmmeote 324 33 ——




ARD - 340/ 350 Series

® ARD-340, 350 ERXMEATEERHERS, ©RBILEFEN
TEE— 8B ETERRFEIHTHS,

Valve chssification code

Digributng points
SBCIRFLEL

ARD - 35 3 - 223

Division
X

S

® The ARD-340, 350 of measuring valve is made to use intermittent
system, and can lubricate the oil by piston stroke.

m ltis suitable to utilize precision lubricating system because of very tight

BREMRETLE/), EHTREZEBRS, allowance of oiling.
Using Bore of pipe Net Discharge
. . Valve
Type Dlscharge pressure — N welght Code No. Vciume
Points EREA PlpE IFEIIE I[Pl =8 iy
SHERILE MPa FEE XEE g 430 cc/st
ARD-342 2 0.8-3.0 M10x1.0p M8x1.0p ms 1T 1 003
o osoa@ |3 | esa0 | Mo | Meds | 1 s o0
ARD-345 5 08-3.0 M10x1.0p Mex1.0p %9 mmm L 0l
ARD-352 - 0.8-3.0 M10x1.0p M8x1.0p 239 S | 01
MRD |3 | 0830 | MDA | MeOp | 3 : 0t
ARD-355 5 0.8-3.0 M10x1.0p M8x1.0p 464 7 06
Example to order | 006 006 0.10 003 003
h ARD-340 Wype  discharge point is 5 and discharge volmes are. Order code 2 2 3 1 1
RIFHE S RNTE S ABRFEERFFARERE, FrREART Order No. ARD-345-22311
R HE T E I, B FROMA,
The oil allocated for When the control In release of main
the lubrication point lubrication pump line pressure, the
isin front of the begins feeding oil, pistonin the
piston in distributor. the piston is moving, distributor returns to
the oilinfront is its initial position,
delivered by main allowing the oil to
line pressure(8~30bar) flow into the space in
to the lubrication front of it.
point.

. pump for all, all for pump




Measuring Distributor

External dimension M E

Type A B © D N

342 48 24 - 17 1

345 99 | 495 | 51 68 2

Type A B D
352 45 225 17
355 95 475 68

Example for using Distributor connection i& Fi

o O wmasacoe 3t 3 ——



Proportional Valve

Flow unit - AJB. ASA

AB - 0

Unit division 4

X5

Classiied number
B=

B Flow unit fEALEBIX AR, SDBELAELRASHEE
ARAAIBEL, 5&EHBMAAEHMHASA,

m The flow unit is a proportional distributor, one is AJB type to combine
DB distributor, the other is ASA type to set units at the oiling points of

hine side.
B S SRR IR — R, SR AR rachineside

B REEh0, ® It lubricates by code number of discharging volume, the code number

increases, the discharging volume increases twice.
RARERANRE, ERESLEE R R A, rons

m The flowing direction is marked and the check valve protect the

reversed direction working.

External dimension 5P
_ Flowrate | Using pressure | Viscosity
Type CO;EE—:I o tbheE ERAED RE
5 % MPa cSt
AJB-03 03 1.2 0.15~2.0 20 ~500
AJB-02 02 2.5 0.15~2.0 20 ~ 500
AJB-0 0 5 0.15~2.0 20~ 500
AJB-1 1 10 0.15~2.0 20~ 500
AJB-2 2 20 0.15~2.0 20 ~500
AJB-3 3 40 0.15~2.0 20~ 500
AJB-4 4 80 0.15~2.0 20~ 500
AJB-5 5 160 0.15~2.0 20~ 500
_ Flowrate | Using pressure | Viscosity
Type C°:ﬁe£'°' HHE fEREN B
- % MPa cSt
ASA-03 03 1.2 0.15~2.0 20 ~500
ASA-02 02 2.5 0.15~2.0 20 ~500
ASA-0 0] 5 0.15~2.0 20 ~500
ASA-1 1 10 0.15~2.0 20 ~500
ASA-2 2 20 0.15~20 20 ~500
ASA-3 3 40 0.15~20 20 ~500
ASA-4 4 80 0.15~20 20 ~500
ASA-5 5 160 0.15~2.0 20 ~500
Assemble flow unit i& Al

Before instaling this system, check and
hande carefully the direction of oil flow.

If not, it is possibke to damage the

pump by excessive turning of screw.

. pump for all, all for pump




Oil Mist Lubrication

AOML-3000 Series

External dimension M B

B AOML-3000% il mist/~ 45 E th 3 & (4
%=, EFAZ=SEHKoilgcoolanti@ ik
TSR S

B AOML-3000CE! N BEFH FizHIss, 5T
e Y E,

B EEE AT EfZ &K chain, gear, trolley

conveyerS g, I H 4 K18 E Kroll feeder,
FBRES,

B [F6FiE f Ttapping, drilling machineZ#4

AOML - 3000 C - 220

Reservoir Capacty
a8

Controler
RS

No Mark : Without
C : Built=in

Voltage
BE

m AOML-3000 type is a kind of oil mist system,
without pump, spraying oil or coolant by air
pressure with nozzle jet.

= AOML-3000C type can be easily set the
discharging time by inner digital controlling

system.

= The main usage is to lubricate chain& gear of
machine, trolley conveyor, press mold, roll
feeder, separating paint of injection
machine.

m It is used tapping, cutting of drilling machine

BTUIEII T 6B RS AR, for oiling and cooling.
Working Reservoir . . Net
Tvoe Prfifrlljre Capacity ;sﬁcﬁ;?g V(galt;_?e Controller | Weight
e pi AR = \ g | EE
Sk cSt vV K
MPa ¢ 9
3000 0.1~03 3.0 2~200 110/220 4.7
3000C 0.1~03 3.0 2~200 | 110/220 | Built-in 6.0
X Caution

Keep the ar pressure down to avoid tank broken causing higher pressure

TRENISSSEHENRBR, DARFEAENUT,.

Type S_t:a\ndard Oilin-let Airin-let L1 Net Weight
tRofE(mm) | RIEAD =N (mm) (o]
JET-250 250 ah @6 250 153
JET-300 300 Bl @6 300 172
JET-400 400 b 76 400 210

B ABERBETE, THTAERE,

m |t is possible to control the discharge volume
because it has control valve inside.

O wammacane 36+ 3]



Oil Mist Lubrication

Panel description

. Feed buton
: Reset button
: Mode button
* hterval FND
. Discharge FND

Single jet circuit view

OO

Multiple jet circuit view

R E BB iR

V&EFE
MODE B : % EFUs, %), FELER
A HEETH
v EETRE
A EELTOEMODE ‘W’ %, BEN
BEfR B TS A, WREEOE “A”
R, BEEH, RO% VY R, B
BT, BB ENERNEREZRE
EFHZ—XQHEMODE ‘W’ i, =
HEENETR2 Az, LHEFZED
‘AT IRE, BELEH, OB VY 2
H, BETRE, rEttiEgE=mRE,
#%Q%MODE “W” HHBRHIRERF,

B) R & E PETHRRBEAHFHRA,
REBINDURE T, HEHERE)E
FTRZS.

C) "A" 'V BERRHRIERE— N
B, nR-ERRHERS B

2) RESET 1EH
WMBEETIERESE “RESET” #%41, ¥
FHEBVIERTE B TIRS.

3) FEED button /£ (5 50 {50)
MMBEIEITIRA TR “FEED” %, WL
¥ ®R “FEED” FH, FEERMNEER
BASEREE, XAEENEE X,
ZETEE X HEN, ETHRERZSE
Tl A e HHETER,

Setting instruction of digital timer

1) How to set the timer

MODE m : Starting set, Move, Finishing set.
A :Numbersup
¥ : Numbers down

AJlf you press the button” m" one time, the
interval time mode begins blinking. " A"
button increases the numbers to set the
interval time and " w "decreases the
numbers. When it finished, press " m"button
again and the discharge volume time mode
blinking, " A"button leads to increase
numbers and "w " to decrease the
discharge time. Press again the MODE "m"
to exit the setting program.

BJIf you don't press the button within 10
seconds, the timer recognizes the ~ setting
time is ended and operates  automatically.

C)Whenyou press“ A", w"button  every one
time, every one number increases(decreases).

2) RESET function

When you push the "RESET" button  during
the operation, the mode returns  to starting set
mode.

3) FEED button( manual oiling}

If you press "FEED"button during the
operation, the oil discharges regardless the
setting mode, also this button can be used to
remove the airin pipe or by manual.

. pump for all, all for pump



Oil Mist Lubrication

AOL 4 Series

AOL 4 - M5
Pump dvision
REVX 53
Mixing valve point
RENERILEE
B EATEEREMBHMANDERAH, MRER. m AOL Series is high performance for lubricating and cooling efficiency

~ e for high speed spindle bearings.
B N EFEHER T B et TEEUDBM0h, RS TR
RiRSLER b T SE i R H = 4 m The controller in cabinet automatically operates by interval time so

thatitis can to check the troubles easily during working time.
S SHREASRHNRSHATEEXABIRBHEGER, & Y ELrngwering

AESEEZEEEFM, m As measuring type of distributor, Mixing valve with air and oil mixed is
suitable for high speed operating machine.

Discharge . . Air - .
volume Dlschgrge point Pressure Uzt Luerries Control Air Air-0il
Type o D EEFLEL gt FE Method
i (Air+Oil) =RE ot i Ht Method In-let Out-let
cc/st MPa BHEFR
B _ B N Measuring Digital PT1/4" | M8 x1.0p
AOL 4 0.03~0.16 2~6 03~05 10~100 Rt o (g8) ()

External dimension 5P E Circuit diagram [ol & &

»:on
> AR
B : MR+0IL

Electric connection 2k

r/fELECTRIC WIRING D[AGRAM—\\

|la||?[1a|15|14|13|12|1111E9|a|7 [6]s]a]a]z]1]
b

-+
£21
¥
2]

AR SENSOR FL?! SN | AIR SENSOR
EARTH OIL SENSOR DIL SENSOR AlR 50U A IRPUT
NP FALLT OUT viv BO~240¢
i L ATAEE R A - BEAY

FLOAT S/'W

A
B:B EH B Al - MEAIY
1
2

: AIR®2} NOTORZE HESIOl BE Al - ME ALY
: AIR2} NOTORE H-2|8iM JZF Al - EFEALY

=
\‘_ AlR QUT SEL

o O wwamrcse 34+ 39 ——




Air-0Oil Lubrication

ARD - 440 Series

ARD - 44 3 - 223

Division
X7

Digributng ponts
SECIRTLEL

Valve chssification code
RS

B ARD-440B A B MEF =R E
ERTEREREE LFM,

B HTEEBEESREMHS, EMoNEE F BT, &
LB SR B MR & LA M DUIEEHS,

| Wﬁﬁﬁ SWER, SFTRTEEERRERLBSEREER

HREHRENEEINE SR, m ARD-440 type is a mixing valve spaying oil and air together. It is

suitable to use high and precise machine system.

M [t maintains low temperature to operate high speed operation
provided air and oil.

m This type has inner the air controller to adjust easily air pressure

FEBBEIR, according to usage and lubricating area.
Using Bore of pipe Net Discharge
. iah Valve
Type Discharge pressure . . weight Code No Volume
Points FRERN Central pipe Branch pipe == : e
SERTLE MPa T * B g il cc/st
ARD-442 2 0.8-3.0 M10x1.0p M8 < 1.0p 310 1 0.03
ARD-443 3 0.8-3.0 M10x1.0p M8 <1.0p 400 ’ 2 o - 006 o
ARD-444 4 0.8-3.0 M101.0p M8 x1.0p 490 00 T I
ARD-445 5 0830 M10x10p | M8x10p 580 3 010
ARD-446 6 0.8-3.0 M10x1.0p M8 x1.0p 670 4 0.16
|
Example to order J& 006 | 006 | 010 | 003 | 003
h ARD-440 type T discharge poit is 5 and discharge volumes are. Order code 2 2 3 ! !
#FEARD-440 RSB, 7B HEFLETAEE. Order No. ARD—445-22311
External dimension Ml
Discharge
Type point N W L
SELESFLEL
ARD-442 2 17 39 51
ARD-443 3 17 56 68
ARD-444 4 17 73 85
ARD-445 3 17 90 102

. pump for all, all for pump




Oil Reservoir

BT ) E T A
o 2o || % 46| % 0 7 |z 14| & | Thdb

T1.8

2014

1.810

O1A(F), 01M(F)
01S(F), 01NS
013(F), 015(F)

TO3

400

3010

O1AF-TO3
OIMFTO3
025N
025NS

TO3 TO6

4010 70 0

30 ¢ 6.010

238 142
235 217

200NS 200NS
—T03 —T06

B R Material

*HFE  Tank
* Seel

*SHE Level gauge
: #Rl Pastic

AMGP-01N, 02N
AMGP-03, 05

O wwamneoe 404 4]



Oil Reservoir

Bt Material
*hFE Tank
: Steel
* S Level gauge
© 8Bl Phstic
. . . Standard
Type il Crppaeliy EﬁECtN‘e Ceppiniy A B © D E F G H J Applicable pump
EAE BRAE & AR
T03-TZ 5¢ 30 280 | 153 | 15 | 168 | 80 | 130 | 200 | 65 140
T06-TZ 8¢ 60 300 | 153 | 15 | 168 | 120 | 190 | 240 | 95 40 AMGP-01N, 02N,
T12-TZ 13¢ 12 9 363 | 153 | 15 | 168 | 160 | 228 | 280 | 114 | 40 AMGP-03, 05
T20-TZ 230 20 ¢ 470 | 159 | 15 | 174 | 240 | 310 | 390 | 155 | 50
B /R Material
*SHFE Tank
: Steel
* B Level gauce
(¥R Phstic
. . . Standard
Type Total Capacity Effectl\{e Capacity A E F G R ——
ERE BREE ERE
T12-TZ1 13 ¢ 12 ¢ 363 163 228 303 AMGP-03, 05
T20-TZ1 23 20 0 470 245 310 410 AMGP-03, 05
B#tE Material
*SH5E Tank
: Steel
BT Level auge
© ¥R Pbstc
. . . Standard
Type Total Capacity Effectlv? Capacity A B c D E F G Applicable pump
ERE BHARE ERE
T40-TZ2 50 30 450 330 40 370 285 390 220 AMGP-03, 05
T60-TZ2 8¢ 69 600 280 50 330 375 540 310 AMGP-03, 05

—_——— . pump for all, all for pump




Accessories

AFSFL gl 1 | 50 | 0] i | o

Line filter which is installed on lubricating line is used to remove
foreign materials of and to extend the life of machine.
It can be installed on line without special devices.

APy MT0 5107

Discharge volume Curves

AC250V 0.33A
DC200v 0.5A

AC250V

DC200V Change-over

AC250V
0,
0.15+10% DC32V 1.7A

PG-35K 0~3.5(0-35)

o O wmsmmeste 424 43 ——




Fitting

. pump for all, all for pump




Fitting

LK | gt | 0 | 5 | 6 | P | Weoy | 10| 603

TD6-12K M12x1.0p | M10x1.0p

o0 | 0 | ¢ | T8 | Mooy wiontp | 12 | B60d

K | e | T | 0| 5 | 8| PTi | Weioy

T1-1/8K1 12 8 21 12 PT1/8" | PT1/8" | BsBD3

o | 7[5 PR Weigp | 10 bEm

o O wmsmmeste bl 4 ——




Fitting

Type L1 L2 L3 T Hex Material
TG-8 " M8x1.0p 12 BsBD3
TG-10 12 M10x1.0p 14 BsBD3
TG-12 13 M12x1.0p 17 BsBD3
Type L1 L2 L3 T1 Hex Material
TG-1/8K 4 7 1 PT1/8" 12 BsBD3
Type Pipedia | d1 | d2 | L1 | L2 | L3 T Hex | Material
TN-4 @4 |41 ] 10 | 6 5 | 13 M8x1.0p 10 BsBD3
TN-6 @6 |61 | 12 | 6 5 | 13 | M10x1.0p 12 BsBD3
Type d1 L1 L2 T1 Material
RD-340 4 14 26 M10x1.0p BsBD3
Type d1 L1 L2 T1 Hex Material
RD-350 4 36 M12x1.0p M12x1.0p 12 BsBD3

. pump for all, all for pump




Fitting

s | o1 7 | 5 |15 Waos Wiy ity 12 59

00 9|10 5| 8| 15 o op oy v 12 0

o o e B 50 Ve | vente | oo

i[5 1o % 5 | 10| Mooy | Werop | 12| 509

o O wmsmmeste byt b ——




ARERERITR

TRIRES R XK
BN, AR BHiAEE, TN
PRI L2 T EHRIG 22
W R RIPEERE B BR R RS
ERBHFEE | ayms FESTI
N o HREETE (INTERVAL TIME )
T
: BT ARG S IE ¥/
P . — - : s
WADIAR (GREE RSB BE) ) ol ( BEURALE ] )
BT FIABUE B R
ERAEE iﬂa%@ﬁvﬁ‘tﬁé R, FRET]
T FFOEE T ik AT
RN RIERY) EBEY
S BANTR BIA B IIETE, STRA, EEHI.
B RGS BEAR (RF) =483 X B
f5E e O B & B YEFE %5 RS (30~1000cst )
8711 E [a] 7R (]
EHRE B E R
EH BT R —— : RS
i R ORI SRR REEER O E
Y 1B e e REEE, BAEETHIA
o EURNLEPEIT SRR, SRR
. RN REER, BAEERIN  WHIABERS
Z
e SRR BRSTI
Symptom Probable cause Remedy
No input power, Bad power connection Check connections
Fuse outage Replace fuse
Over-voltage protection trip Turn off over-voltage protection
Nq Motor wiring disconnection Requires repair service
operational —— .
sound _ Set sufficient interval time. .
Overheating of the motor When the heat cools down, the system will return to normal
No condition.
S Lowering of the oil level
(Turn on the float switch) Refill with oil (Turn off the float switch)
weak voltage Check voltage rating
Operational Worn-out bearing causing sticking Replace bearing, Requires repair service
sound Rotor strikes stator Requires repair service
foreign materials in the pump gear Remove foreign materials
Insufficient suction Check for filter blockage, air mixture, and pipe obstruction
Insufficient Inferior revolution of the pump Switch two of the three circuits
discharge Improper viscosity of oil Maintain an optimum level of viscosity (30~1000cSt)
Improper serring of pipes Adjust valve
. Pressure set too low Adjust relief valve
Falling Tiah ; - d distributi
Rotation pressure Leakage at the pipes and connectors bllgcltén connections at pipe connectors and distribution
'i\lrc;fejgg Cavitation phenomena Check oil level, intake pipes, filter cleanliness, and oil
9 (air mixture and pipe blockage) viscosity
pressure
Irregular Air mixture Check oil level, intake pipes and seals
performance of
pump Worn-out gear Requires repair service

———————————————— . pump for all, all for pump




MEMO




MEMO




AHFRERTmME!

=]

FREFRENRFLMARE | |

A-RYUNG The leading (pump) manufacturer in Korea.
A-RYUNG joins the development of Korean machine tools.

SEFAOISEL 04|
ICH2] 204

AZE V| 33

1976. 5 WHEHLT (4 ) Alar
1980. 4 B LEPFEE AR LI (No.79-118)
1982. 2 ¥5E AE R ZEAITRIAIA L
(/iR T ENo.81-208 )
1982 5 3kt F L 24 %K% (No.54709 )
1987. 9 Wit T ARSI F EZILF RN,
FKBIRER (No.87-104 )
1992. 12 SR E RN K, ( EFRT)
1993, 5 B HIHH O~ YR
( KERZIRNATE )
1996. 11 3k “CE” BRMNZ LKL,
1909, 6 "EM” A, EBIVRMEMLE MBS IAE
( BEF A RERNO0.1999-039 )
1999. 11 $KISO9001 FRE L EARRINE (KSA)
2000. 10 3% “CSA-c-us” EERNERLTEHAEINE
( CSA INTERNATIONAL )
2000, 11 FkHH OB 55 7= L R K B K

200311 KA ZGIRNEF KRG =W RRBEKER,

2003. 12
2004. 11
2005. 12
2006. 12 £
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2000. 2
2000. 3
2010. 11

HOMF LT EENAEHEE,
P ELHEARMS TENT (KE) BRAS
*k ERTMAR" HEESRAER,
LR BEKI00AFETHOR,
1 EBBH 5 AL AL
“MAIN-BIZ( £&85Fdh /i
BSSINGLE PPM TAIE
“INNO-BIZ" ( HAREIFE p/ ik
REFEEEVHE
“NRTL" dbEZ &M
EftERY
R BALIAE
(0.75kWIL )
é?ﬁi@ﬁ ox
SRR BN (
—T-I—JE’]JLJK%Q
RIRSEPFRARE
ERRPLALBHO00F ETRE

A )IAE “AA" 4

) TATE

2012. 2
2014. 2
2014.10
2015. 3
2015. 12

IE3)

1976. 5
1980. 4
1982. 2

1982. 5
1987. 9

1992. 12
1993. 5

1996. 11
1999. 6

1999. 11
2000. 10

2000. 11

2003. 11

2003. 12
2004. 11
2005. 12
2006. 12
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2000. 2
2009. 3
2010. 11

2012. 2
2014. 2
2014. 10
2015. 3
2015. 12

A 201684 42 Simlos HAl3l

A Coolant pump =& Line AT-rolor pump £& Line

Established as A-RYUNG Machinery Industry Co. Ltd.
Designated technical manufacturer of oil pump by the Ministry of Trade and Industry.

Designated as an Approved Company of Systematization of Small & Medium
Industry by the Ministry of Trade and Industry.

Awarded the Korea Presidential Citation for an Excellent Small & Medium Enterprise.

Awarded Excellent company for domestic machine development
by the Deputy Prime Minister.

Awarded Self-Control company for National Tax by National Tax Office.

Awarded an Export Industry Prize for Overseas Market
by the Korea Trade Center. (KOTRA)

Authorized Conformity EC declaration by TUV Rheinland.

Obtaining Certification for EM Machinery, Spare parts by Korea Technique
Standard Association.

Obtaining the ISO 9001 Certification by the KSA-QA supported by IQ-NET.

Obtained the CSA-c-us mark, American-Canadian Safety Standard by CSA
INTERNATIONAL.

Awarded The prize of Export-developing Company by Ministry of Trade and
Industry.

Awarded Prize of Trade Promotion and Industrial Development from Ministry
of Trade and Industry

Awarded Prize of excellent Exporter by Jeonnam Province.
Opened China office in Dalian named A-Ryung Dalian Co. Ltd.
Awarded Honor of machine development by The Prime Minister.
Prized 1 Million Tower of Export celebrating National Trade Day
Established Research & Development Center

Obtained Main-Biz (management innovation in small & midium Co.)
Obtained Certificate of Single PPM

Obtained Inno-biz ( management innivation in small & midium Co.)
awarded bronze tower of industry from ministry of public administration and security
Obtained NRTL Certificate.

A citation from Director of the National Tax Service

Motor(more than 0.75kw) based on minum energy efficiency
Korean policy will be released in 2011.

Export Award of Jeonnam

IE3, Premium Efficiency, certified

Noble Entrepreneur Award

Good Taxpayer Award from the vice prime minister
Exporting three million dollars award






